Ratio to ATLAS

30

25

20

15

10

[EEY

0.5

8000 GeV pp Jets
T Ty r oo e T
- Average N ) (p_>5, central, | < 2.1) T
- Cc |
- m ATLAS B
— £ Pythia 6.428 350 =
-~ ----- Pythia 6.428 351 —
. --¥-- Pythia 6.428 352 ]
I A+ Pythia 6.428 353 _
— --G-- Pythia 6.428 354 ]
— -+~ Pythia 6.428 355 —
R o Pythia 6.428 356 -
u Pythia 6.428 357 .
ny Pythia 6.428 358 ]
—  ---=-- Pythia 6.42§ 359 N
Z : | ]

| |
— . ]
- ! .
B | 4+ | | [ | | | | | | | | I_
: T T T T | T T T T | T T I:

" 1 1 1 | i 1 " 1 1 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1
0 500 1000 1500

Jet P, [GeV]

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


